OPTIONAL HOLES (4)
FOR KIRKLOCK

TABLE 1 -SOCKET BODY OPTIONS

ITEM|PART NO. DESCRIPTION QTY.
60894 |QUIK-THREAD SOCKET BODY ASM 1
1 60796 |STD-THREAD SOCKET BODY ASM 1
60949 |QUIK-TURN SOCKET BODY ASM 1

TABLE 2 - SOCKET COVERS

ITEM|PART NO. DESCRIPTION QTY.
60891 |QUIK-THREAD SOCKET COVER ASM 1
6 60813 |STD-THREAD SOCKET COVER ASM 1
1

60963 |QUIK-TURN SOCKET COVER ASM

ITEM{PART NO. DESCRIPTION QTY.| ASM.NO. |ASM. QTY.
1 TABLE 1 |[SOCKET BODY 1
2 60867 |C1063-1415 GEAR FLANGE ASM 1
3 60879 |C1419-H FEMALE INSULATOR ASM 1
4 2-12 BOLT HH 1/4-20 x 1 1/4" SS 6
5 2-13  |WASHER FLAT 1/4"1.D. SS 6
6 | TABLE 2 |[SOCKET COVER ASM 1
7 60897 |COVERATTACHHDWR 1
8 A1024 |PHASE CONTACT FEMALE 3 52613 3
9 60186 |A1028 FEMALE GND CONTACT ASM 1 52613 1
10 A2065 |FEMALE LOCKNUT (PHASE) 3 52613 3
11 A1029 |FEMALE LOCKNUT (GRND) 1 52613 1
12 A1030 |SPACER, FEMALE CONTACT 1 52613 1
13 51908 |A ADDER FEMALE GRND CHK ASM 1
14 | C1132-1 |FLANGE PLUG FOOT 1
15 1-05 BOLT HH 5/16-18 X 1 4
16 1-56  |WASHER SPLIT 5/16 I.D. 4

17 60710 |GEAR CPLR MOUNTING HDWR 1

**18 | 60577 |A1717-1 CABLE TERMINATIONKIT 1

* REMAINDER OF MOUNTING HARDWARE NOT SHOWN
**ITEM NOT SHOWN

[REV] REVISION

<

£ N
PLM

Seveanaor®

s

£ SCOTT FETZER comPANY

Aceesiones

(SFG) (QSFG) (TSFG) -415A
SOCKET FEMALE GEARMOUNT COUPLER
(STD.) (QUIK) (1/4-TURN) THREADS

SDP

SFG 415A |10F1|




